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Cuadro 18 (continuación 4)/Table 18 (continued 4)
Perú: tablas abreviadas de mortalidada

Peru: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.071 0.068  100 000  6 759  94 850 0.922 b 6 322 869 63.2
1 4 0.007 0.028  93 241  2 608  366 309 0.979 c 6 228 019 66.8
5 5 0.002 0.008  90 633   711  451 389 0.994 5 861 709 64.7

10 5 0.001 0.005  89 922   433  448 528 0.994 5 410 321 60.2
15 5 0.001 0.007  89 489   647  445 829 0.991 4 961 792 55.4
20 5 0.002 0.011  88 843   975  441 777 0.988 4 515 963 50.8
25 5 0.003 0.013  87 868  1 103  436 583 0.987 4 074 186 46.4
30 5 0.003 0.014  86 765  1 250  430 701 0.984 3 637 603 41.9
35 5 0.004 0.018  85 515  1 552  423 697 0.979 3 206 902 37.5
40 5 0.005 0.024  83 964  2 009  414 794 0.971 2 783 205 33.1
45 5 0.007 0.033  81 954  2 733  402 937 0.960 2 368 410 28.9
50 5 0.010 0.048  79 221  3 769  386 681 0.941 1 965 473 24.8
55 5 0.015 0.070  75 452  5 304  364 000 0.914 1 578 792 20.9
60 5 0.021 0.102  70 148  7 172  332 809 0.873 1 214 792 17.3
65 5 0.033 0.155  62 976  9 748  290 508 0.812  881 983 14.0
70 5 0.051 0.227  53 228  12 084  235 930 0.730  591 475 11.1
75 5 0.078 0.326  41 144  13 418  172 175 0.618  355 545 8.6
80 5 0.122 0.466  27 726  12 921  106 327 0.488  183 371 6.6
85 5 0.176 0.598  14 805  8 851  51 897 0.369  77 044 5.2
90 5 0.238 0.713  5 954  4 245  19 157 0.267  25 147 4.2
95 5 0.306 0.803  1 709  1 372  5 114 0.146 d  5 990 3.5

100 ω 0.384 1.000   337   337   876   876 2.6
Mujeres/Females

0 1 0.057 0.054  100 000  5 437  95 745 0.936 b 6 798 339 68.0
1 4 0.006 0.025  94 563  2 357  372 204 0.982 c 6 702 594 70.9
5 5 0.001 0.006  92 206   563  459 623 0.995 6 330 390 68.7

10 5 0.001 0.003  91 643   309  457 443 0.996 5 870 767 64.1
15 5 0.001 0.004  91 334   408  455 651 0.995 5 413 324 59.3
20 5 0.001 0.006  90 926   562  453 226 0.993 4 957 673 54.5
25 5 0.002 0.008  90 364   711  450 043 0.991 4 504 447 49.8
30 5 0.002 0.010  89 653   877  446 072 0.989 4 054 404 45.2
35 5 0.003 0.013  88 776  1 143  441 023 0.985 3 608 331 40.6
40 5 0.003 0.017  87 633  1 467  434 498 0.980 3 167 308 36.1
45 5 0.005 0.023  86 166  1 946  425 964 0.973 2 732 811 31.7
50 5 0.006 0.032  84 220  2 668  414 428 0.961 2 306 847 27.4
55 5 0.010 0.047  81 552  3 860  398 107 0.940 1 892 419 23.2
60 5 0.015 0.074  77 691  5 751  374 078 0.904 1 494 312 19.2
65 5 0.025 0.120  71 940  8 638  338 104 0.849 1 120 234 15.6
70 5 0.041 0.187  63 302  11 812  286 978 0.777  782 130 12.4
75 5 0.062 0.268  51 490  13 775  223 011 0.670  495 152 9.6
80 5 0.105 0.416  37 715  15 695  149 335 0.532  272 141 7.2
85 5 0.158 0.556  22 019  12 250  79 471 0.405  122 806 5.6
90 5 0.220 0.683  9 769  6 677  32 153 0.292  43 335 4.4
95 5 0.290 0.785  3 092  2 426  9 395 0.160 d  11 182 3.6

100 ω 0.373 1.000   666   666  1 787  1 787 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


